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ecl-halt(ds;da;x)
=4ef eclind(x;k,test.An,L. n =0
& (IL:event-info(ds;da) List, s:State(ds), v:Valtype(da;k).
L = (L' Q [{k,s,0)]) & test(s,v)
& (Vtel!. —let ks =tin k = k' & test(s,v)));a,b,ha,hb.An,L. 0<n & ha(n,L)
V (3L1, Ly:event-info(ds;da) List.
L = (L @ Ly) & ha(0,L1) & hb(n,Ls)):a,b,ha,hb.An,L.
(n=0
= ha(0,L) & (3L :event-info(ds;da) List. L' < L & hb(0,L'))
V hb(0,L) & (3L :event-info(ds;da) List. L' < L & ha(0,L)))
& (0<n
= ha(n,L) & (Ym:N, L":event-info(ds;da) List. L' < L = hb(m,L') = L' = L & n<m)
V hb(n,L)
& (Vm:N, L':event-info(ds;da) List.
L' < L= ha(m, ') = L' = L & n<m));a,b,ha,hb.An,L. ha(n,L)
& (Vm:N, L':event-info(ds;da) List. L' < L = hb(m,L') = L' = L & n<m)
V hb(n,L)

& (Ym:N, L':event-info(ds;da) List. L' < L = ha(m,L') = L' = L & n<m);a,ha.An,L.
0<n & star-append(event-info(ds;da);ha(0);ha(n))(L);a,m,ha.hasa,m,ha.An,L. 0<n
& ha(n,L)

VvV n=m & ha(0,L);a,l,ha.In,L. ha(n,L) & —(n € 1) Vn =0 & (Imel.ha(m,L)))

clarification:

ecl-halt(ds;da;x)
=qef eclind(x;k,test.An,L. n =0¢€ Z
& (IL':event-info(ds;da) List, s:State(ds), v:Valtype(da;k).
L = (L' @ ({k,s,v).nil)) € event-info(ds;da) List & test(s,v)
& 1.all(L;event-info(ds;da);t.—let k' ,s,v =t in
k =k € Knd & test(s,v)));a,b,ha,hb.An,L. 0<n
& ha(n,L)
V (3Lq:event-info(ds;da) List, Ly:event-info(ds;da) List.
L = (L; @Q Ly) € event-info(ds;da) List & ha(0,L1) & hb(n,Ls));a,b,ha,hb.An,L.
n=0€cZ
= ha(0,L)
& (3L :event-info(ds;da) List. L' < L € event-info(ds;da) List & hb(0,L'))
V hb(0,L)
& (IL :event-info(ds;da) List. L' < L € event-info(ds;da) List & ha(0,L")))
& (0<n
= ha(n,L)
& (Vm:N, L':event-info(ds;da) List.
I’ < L € event-info(ds;da) List



= hb(m,L')
= L' = L € event-info(ds;da) List & n<m)
V hb(n,L)
& (Ym:N, L':event-info(ds;da) List.
L' < L € event-info(ds;da) List
= ha(m,L’)
= [’ = L € event-info(ds;da) List & n<m));a,b,ha,hb.An,L. ha(n,L)
& (Vm:N, L':event-info(ds;da) List.
L' < L € event-info(ds;da) List

= hb(m,L')
= I' = L € event-info(ds;da) List & n<m)
V hb(n,L)

& (Vm:N, L':event-info(ds;da) List.
L' < L € event-info(ds;da) List
= ha(m,L’)
= L' = L € event-info(ds;da) List & n<m);a,ha.An,L. 0<n
& star-append(event-info(ds;da);ha(0);ha(n))(L);a,m,ha.ha;a,m,ha.An,L. 0<n & ha(n,L)
Vn=mée€Z& ha(0,L);a,l,ha.In,L. ha(n,L) & —(n €l € N)
Vn=0E¢€Z & lexists(l;N;m.ha(m,L)))
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